
Legend
025 AIR CONDITIONER 1
140 CLIMATE CONTROL 2
NOTURBO (ASPIRATED/TURBO):EXHAUST FAN
1.4 HORSE POWER (MARKET):1370
70HP POWER:1.4 FIRE 8V 70HP EURO5
78HP POWER:1.4 FIRE 8V/16V 78HP EURO5
105HP POWER:1.4 FIRE 16V MULTIAIR 105HP (EURO 5)

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 50515584 ELECTROFAN !025+!140 1
1 50512108 ELECTROFAN 025+!140 1
1 50512108 ELECTROFAN 140 1
2 55702358 RESISTOR 025+!140 1
2 55702358 RESISTOR 140 1
3 15959201 SCREW 140 1
4 50509233 CABLE HARNESS 70HP+!025, 78HP+!025+!140, 105HP+!025+!140 1
4 50515487 ELECTRIC CABLE 70HP+025, 78HP+025+!140, 105HP+025+!140 1
4 50515487 ELECTRIC CABLE 1.4+70HP+140, 78HP+140, 105HP+140 1

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 01 1.4 + NOTURBO
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



Legend
025 AIR CONDITIONER 1
140 CLIMATE CONTROL 2

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 51817559 ELECTROFAN 120HP+!025+!140 1
1 51813582 ELECTROFAN 120HP+025+!140 1
1 51813582 ELECTROFAN 120HP+140 1
1 51890980 ELECTROFAN 135HP+!025+!140 1
1 51890982 ELECTROFAN 135HP+025+!140 1
1 51890982 ELECTROFAN 135HP+140 1
1 51813582 ELECTROFAN 170HP+!140 1
1 51813582 ELECTROFAN 170HP+140 1
1 50522059 ELECTROFAN 4MJ 1
2 55702358 RESISTOR 120HP+!025+!140 1
2 51805134 RESISTOR 120HP+025+!140 1
2 51805134 RESISTOR 120HP+140 1
2 51890981 RESISTOR 135HP+!025+!140 1
2 51890981 RESISTOR 135HP+025+!140 1
2 51890981 RESISTOR 135HP+140 1
2 51805134 RESISTOR 170HP+!140 1
2 51805134 RESISTOR 170HP+140 1
3 5981077 PAD 2
4 50519444 CABLE HARNESS 120HP+!025+!140, 135HP+!025+!140 1
4 50519445 CABLE HARNESS 120HP+025+!140, 155HP+025+!140 1
4 50519445 CABLE HARNESS 120HP+140, 155HP+140 1
4 50518622 CABLE HARNESS 135HP+025+!140, 170HP+025+!140 1
4 50518622 CABLE HARNESS 135HP+140, 170HP+140 1
4 50521778 CABLE HARNESS 4MJ 1
5 46785726 SPACER 3
6 15699801 SCREW, M6X20 !025, !140 3
6 15699801 SCREW, M6X20 025, 140 6
7 7559611 PAD 6
8 15923907 SCREW, M10X16 4MJ 1
9 55703595 CLIP 4MJ 2

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 02 1.4 + TURBO
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



4MJ SPECIFIC FOR LIGHT TROPICAL MARKET
TURBO (ASPIRATED/TURBO):TURBO
1.4 HORSE POWER (MARKET):1370
155HP POWER:1.4 FIRE 16V TURBO 155HP (EURO 5)
170HP POWER:1.4 FIRE 16V TURBO MULTIAIR 170HP EURO 5
120HP POWER:1.6 JTD EURO5 -1.4 FIRE TRB EURO4 120CV
135HP POWER:1.4 FIRE 16V TURBO MULTIAIR 135 HP EURO 5

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



Legend
025 AIR CONDITIONER 1
140 CLIMATE CONTROL 2
1.3D HORSE POWER (MARKET):1.3
85HP POWER:1.3 SDE 85HP EURO5
95HP POWER:1.3 SDE 95HP EURO5

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 51890980 ELECTROFAN 85HP+!025+!140 1
1 51890980 ELECTROFAN 95HP+!025+!140 1
1 51890982 ELECTROFAN 85HP+025+!140 1
1 51890982 ELECTROFAN 95HP+025+!140 1
1 51890982 ELECTROFAN 85HP+140 1
1 51890982 ELECTROFAN 95HP+140 1
2 51890981 RESISTOR 1
3 5981077 PAD 2
4 55703595 CLIP 2
5 46785726 SPACER 3
6 15699801 SCREW 3
7 7559611 PAD 6
8 50510706 CABLE HARNESS 85HP+!025+!140 1
8 50510706 CABLE HARNESS 95HP+!025+!140 1
8 50510707 CABLE HARNESS 85HP+025+!140 1
8 50510707 CABLE HARNESS 95HP+025+!140 1
8 50510707 CABLE HARNESS 85HP+140 1
8 50510707 CABLE HARNESS 95HP+140 1

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 03 1.3D
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



Legend
025 AIR CONDITIONER 1
140 CLIMATE CONTROL 2
1.6D HORSE POWER (MARKET):1598

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 51890980 ELECTROFAN !025+!140 1
1 51890982 ELECTROFAN 025, 140 1
2 51890981 RESISTOR 1
3 5981077 PAD 2
4 55703595 CLIP 3
5 46785726 SPACER 3
6 15699801 SCREW !025+!140 3
6 15699801 SCREW 025, 140 6
7 7559611 PAD 6
8 50510706 CABLE HARNESS !025+!140 1
8 50510707 CABLE HARNESS 025, 140 1

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 04 1.6D
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



Legend
025 AIR CONDITIONER 1
140 CLIMATE CONTROL 2
875CC HORSE POWER (MARKET):875

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 51890980 ELECTROFAN !025+!140 1
1 51890982 ELECTROFAN 025+!140 1
1 51890982 ELECTROFAN 140 1
2 51890981 RESISTOR 1
3 5981077 PAD 2
4 55703595 CLIP 3
5 46785726 SPACER 3
6 15699801 SCREW, M6X20 3
7 7559611 PAD 6
8 50510706 CABLE HARNESS !025+!140 1
8 50510707 CABLE HARNESS 025, 140 1

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 05 875CC
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com



Legend
4MJ SPECIFIC FOR LIGHT TROPICAL MARKET
NOTURBO (ASPIRATED/TURBO):EXHAUST FAN
TURBO (ASPIRATED/TURBO):TURBO
1.3D HORSE POWER (MARKET):1.3
1.4 HORSE POWER (MARKET):1370
1.6D HORSE POWER (MARKET):1598

Part Num. Description                Compatibility                Modif.    Qty        Notes               Col.            Reman.
1 50521716 PARTITION PANEL 1.3D, 1.4+TURBO, 1.6D 1
1 50522061 PARTITION PANEL 4MJ 1
2 50512241 PROTECTION 1.4+NOTURBO 1
3 7797817 SCREW 2

Catalogue MITO 2011-2013
Category 5.3 FAN AND FAN DRIVE

Var. 01
Rev. 00

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com


	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7

